T /Maths

(3Tt 597/ Modal Paper)

I <94 79/ Four Year

(SET-A)

SRR forem fretl At il e & wamaia kT -

Convert the following improper fractions in to mixed numbers -
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Find the quotient and remainder in the following -

76.. 19 -

3—1,531

I[:

56 379

frrrifoa 1 et % &9 H foaRae -

1007 = -

t

S #M,
\1 T )

g -

E'Sl%l / Quotient ...... 2
Efay Quéﬁent

Write each of the following into fractions -

9.8. UEHGZHE / One Tenths

9.9.. a@ﬁ-{-}ﬂfﬂ / Four Sevenths
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Arrange the following fractions in ascending order -
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Tick (v') the correct answer in the following -
9.18. Al 969 F 37 & WNT fera S o SfeT &Il & -
If 969 is divided by 37 then the quotient is -
(i) 43 (ii) 28
(i) 26 (iv) 27
9.19. 911 1 21 | w1 fora < o e &l 2 -
If 911 is divided by 21 then quotient is -
) 41 (ii) 40
(i) 42 (iv) 43
9.20. 711 %27 & w1 fomn o ot SRa & E -
If 711 is divided by 27 then quotient is -
(i) 25 (i) 26
(i) 27 (iv) 28
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